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Note : This paper is of two hundred (200) marks containing four (4) sections. Candidates
are required to attempt the questions contained in the section according to the detailed
instructions given therein.

qe:  TE TUS {1 W (200) TR F € TS THH AR (4) TS § | 3nAIGT B TAH THIE UL & W
37T 2 T Toregye e el o STAR ST € |
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SECTION -1
Gs-1

Note : This section consists of two essay type questions of twenty (20) marks each, to be

e

answered in about five hundred (500) words each. (2 X 20 = 40 marks)
30 WS H Y-S (20) 37hi & J Fe-uTcas U9 € | Tcish U9 ST STR T U @t (500)
ST H T E | (2 x 20 = 40 37F)

Differentiate between the terms liberalization, privatization and globalization. What
are the opportunities and threats of globalization for a developing country like India ?
SRS, FSTRTOT 3TR WTEHITHRIRRUT o FTeRT o &l 3T il | R S fareprarsiiet 3o
% foTT FrEifHeReRtoT o T 373X MY (TaR) € ?

OR / 3gar
Discuss various measures of estimating absolute and relative poverty. Comment on
the estimates of the poverty in India published by the Government. Suggest measures
to alleviate poverty in India.

RUeT Ud Wi MR 3R o fafy=T 3umal ol fad=mr it | 9RA § TR ZRT TR
=T 3 AT W femult ST | TR | HEar w9 &R o ot 3U™ FdTey |

D-01-10 3 P.T.O.



D-01-10



D-01-10 5 P.T.O.



D-01-10



2. State in brief the reasons for the recent global financial crisis. In this context, discuss
the relevance of Keynesian economic prescriptions.
BT 81 o foreareaTd fomig Tehe & ShRUT ol H&T § Sa1sU | 36 9 H, WA | SHi-wamal s
ST St ITEfTeRAT i foaemT Sifs |

OR / 3gar

What is sustainable development ? How far the agricultural reforms introduced after
the year 2000 have been able to achieve sustainability ? Suggest pragmatic measures
in this respect with reference to Indian agriculture.
YR T 1 & 2 2000 o S TR FRT H Framedt ER el doh FROMFAT U X T 2
TR P T GROTIAT AT T o TR SU FATT |
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SECTION - II
Ge-11

This section contains three (3) questions. From each of the elective/specialization,
the candidate has to choose only one elective/specialization and answer all the three
questions from it. Each question carries fifteen (15) marks and is to be answered in
about three hundred (300) words. (3 X 15 = 45 Marks)

T GUS H U Ufeseh gohre / fowiesrar @ diF (3) 9T & | 3137l o Shaiet Ueh Ufeseh SohTs /
TorgTo=TeT ht TFeRT 3T o AT U9 b1 STR A1 & | Uik U9 U5 (15) 3Rl T & I STeh
TR AT AT F(300) V=T H SURITE | (3 x 15 = 45 3iF)
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Elective — I / fosea - I
3. Consider the following model and answer the questions :

Y. =B, +B,X + .+ B X

(1) Discuss the assumptions of the Ordinary Least Square method and derive the
estimators of the parameters of this model.

(i1))  Prove that the OLS estimators are linear, unbiased and possess the minimum
variance.

F=ifehd HiSe IR
Y. =B, +B,X + .+ B X

() et oive erRy TSia S graarsti st faa=mT FiT 3R 39 Higet & U=l &

A eIy |
(i)  oIfoTd ST foh 371.0e1. 0. STeheteh 3, TeTard Jfed & SR $ehT FER0T =AY Bl
2|
4. Explain the problem of identification with the help of an example. Discuss the order

and rank conditions of identifiability and examine the identification status of the
following model :

C=a,+a,Y,—a,T +u

L[ =by,+bY_,+V

T,=C,+C, Y, +W

Y, =C +L[+G,
Where C, I, T, and Y, are endogenous variables, and Y., and G, are exogenous
variables.

STTEIUT ! FETaaT § TSI ohi THET ol SANAT HITSTT | AT o 5hH TS shife RAfqar i
TorremT shiteTT IR F=ifeRd HigeT o THISHION oht 3AT9RTe sl ILieT ShifeTa
C=a,+a,Y,—a,T +u
L[ =by,+bY_,+V
T,=C,+C, Y, +W
Y, =C +L[+G,
SR C, I, T, #R Y, AT =R E AR Y, | 3R G, fesiia =" & |

5. What do you understand by ARIMA approach ? Explain how this approach is used in
forecasting in the context of time series data. Use a suitable example.

31T AT (ARIMA) 3UFH ¥ 1§51 € ? SHersol Siiehgl o W § QoA w3 H 38
SUNTH 1 SUFNT {ohq T ferdT ST &, SATEAT hifeTT . | Teiferd SSTeoT shi ST & |

Elective — II / feheq - 11
3. Discuss the working of dynamic multiplier when investment spending is permanent.

e T+7ereT =23 Tt € Al TTeATcHeh TUTieh o ShIIaTer ah fofereT ShifeTy |

4. Explain Solow’s model of steady state growth in the absence of technical progress.

TR ST sht SFafeata | Hict o Teh TH 3Tae Ygig Hieet i A i |
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Explain the long run equilibrium of a firm in monopolistic competition with the help
of subjective and market demand curves, as given by Chamberlin.

TR §R7 U SAfduies Ue SISIR A7 a5l ol Herddl & Thiaehil Uiaqaiiter § & o
JrHhITeTeh TeT Shi AT T |

Elective — III / forereq — 11T

Explain main provisions of the WTO agreements relating to agricultural sector of
India.

YR o P &1 ¥ G- fova AR TS GHeir o T T shi S iy |

Explain different waves of globalization and their significance.

ToreareATdeRoT ot f9=7 o783l TR S7eh Hewel ol AT il |

Examine foreign exchange trading and role of hedging and options in this regard.

ferstt fafmer ShRIER 3R foren TR 21T 27 39 Ty | forshodl sl TRieT shifsTu |

Elective - IV / faeq - IV

Explain the growth and productivity trends in Indian agriculture since 1991. Also
suggest measures to improve productivity of agriculture in India.

IR § T § 1991 ¥ Fgig T Scgehal i TGl bl AT HivlT 3R 9RT F H Ht
STESHAT H GER A o [TE Farey |

What are the types of agriculture markets ? Which market is beneficial to the farmers
and consumers and why ?

I SR o T FehR 1 € 2 TR Wel STieraneti o fe1t ehieT 91 STeTR oATnig € 1R i 2

What are the reasons of migration of agricultural labourers ? How far Mahatma
Gandhi National Rural Employment Guarantee Scheme (MNREGS) is helpful in
reducing the incidence of migration of agricultural labour force ?

P ST & ToST o T HROT E ? FT T o1 & Yolo Hl TAG FH FH H HeledT et
T ATHIOT ASHIR TR IS (TH. T, 312,51, UH. ) Tl e HeTaeh € 2

Elective — V / fasea - V
Examine how the liberalization and globalization have affected the performance of
industrial sector in India ?
IR H ST &7 o oI5 i ITRIFI0T Ua {qvaraardienior = forg werR weftferd o 2 adtet
ol
Examine the role of infrastructure in the process of development. How far do you
agree with the view that the state of physical infrastructure in India is incompatible
with a long term higher rate of growth ?
Forepr 3 e 3 ST S S g P e T | A s S 6w R
Ggfeg ot STeThIfeTeh 3o 3 o T ST & 7 379 3 foraR & el deh Werd & 7

Explain the main features of fiscal reforms undertaken in India during the last two
decades. How far have these been successful in achieving the objectives of allocative
efficiency and distributive justice ?

YRA | T 3 IR o SR TSTohISTa GERT ot 75 faiodret s e S | afeea
&THT Uel TIeRUTIeHeh =7 Ul et | I Sl o Tt g8 7
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SECTION - II1

ECEc | | |

Note : This section contains nine (9) questions of ten (10) marks, each to be answered in

about fifty (50) words. (9 x 10 = 90 Marks)
qe: @ s U TE-gH (10-10) 7R & = (9) U € | Uk U T SR T T4 (50) _i H
UL | (9 x 10 = 90 37F)
6. What is meant by expansion path ? Show it diagrammatically in the case of a linear

homogeneous production function.

TR T 1 7 3 & ? W& GHA S o & el § 39 {EiEE gRT g9y |
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7. Define net investment. What are its components ?

et FrereT =l =T e | 39 GEesh e ?

8. Discuss the assumptions of Harrod-Domar model of economic growth.

3T TaIfeg o EIS-SIHR HISH hl AT hi feeraT HifTT |

D-01-10 21 P.T.O.



0. “The incidence of indirect tax depends on the elasticities of demand and supply.”
[lustrate with diagrams.

““3TYTeeTeT Y ST BT HITT U YT ohl o TR TR FRaT & 17 [ierst o 91 SSTex0T ST |
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10. What are the constituents of Balance of Payments accounts ?

AT I T & T2 hi T € ?

11. How does a change in Bank rate affect liquidity in the economy ?

S T H UNerc ohd Teh Teereel § et ohl THIiad il g ?
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12. Briefly explain the concept of total factor productivity in manufacturing industry.

ITNT H T WE AT i STAEROT h HET H AT HiTT |
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13. Suggest measures for removing regional disparities in Indian agriculture.

TR P T &7 [aTTTrat (STIHT) i GH R o ST FATsu |
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14. Assume that a monopolist sells his product in two separate markets and the demand
functions are : P, =12 - X, P, =20 - 3X,

The total cost function for his product is given by : C =3 + 2X, where X = X, + X,,.

Determine the prices that monopolist will charge and the quantities he will sell in
each market to maximize his profit. Also calculate the maximum profit and the
respective demand elasticities in each market.

I AT fof TehTehRY S 3eTS, 2t &1 f9=1 SIS # S @ SR A7 wer & Py = 12 - X,
P, =20-3X,

T I % ol o1 STl HoTd 38k gRI e 80 C =3 + 2X, I X = X, + X,

THTHHRT 3T 1Y AR o o eI T SR | o i iR s 3R fohat
AT forsh s I fuiiia shifsTe | 3fi sAfaehas oy 3R Uedieh STSTR § 3791-379+1 JiTT o
I AT SHITAT |
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SECTION -1V

-

g -1V

Note : Answer the five questions from the para given below. Each answer should not exceed

e

15.

30 words. Each question carries five marks. (5 X 5 =25 Marks)

e 52 T UR=ST o STTUR W U U & 3T AT | Wl We I (30) VT Ak
TE T MET | Wk WY Ui 37h1 I E | (5 x 5 = 25 3iwh)

Economic facilities refer to the opportunities that individuals respectively
enjoy to utilize economic resources for the purpose of consumption, or production, or
exchange. The economic entitlements that a person has will depend on the resources
owned or available for use as well as on conditions of exchange, such as relative
prices and the working of the markets. Insofar as the process of economic
development increases the income and wealth of a country, they are reflected in
corresponding enhancement of economic entitlements of the population. It should be
obvious that in the relation between national income and wealth, on the one hand, and
the economic entitlements of individuals (or families), on the other, distributional
considerations are important, in addition to aggregative ones. How the additional

incomes generated are distributed will clearly make a difference.

3Tk QemeT T Yo, Uedeh SAferd ol UTe 39 3TaERl 9 &, ST fob o8 SUiT 37era
ST 37aT i & 329 W, STk YT o SUANT & AT & | Uk AT S I
ATYHR TIAT &, T8 SHP W & TGN 3 ST T 2T A1 & FIeT Tol a2l eIk
o STt fafe=T oMt W ek o | ot <91 it enereh forshra isha STt ek 311 e & |
g Al &, T8 ST & NMGF SIFHRT i AT Jig | URARTT Bl & | 37 @nifash
AR W, Th 3R LT 3T q47 €7 TAT TR SR AT (A1 IRART) o 3Nh BRI & e
Gl |, g & SAAReR faaRor et foar off wewerget € | Je ot fo sifaRe scafed s
fohe eRR ol ot ST €, T €9 9 3TR Scq+ e arett & |

How do various opportunities, that individuals enjoy, become economic facilities ?

AfeRTAT i T A= TR, M Grarer hd a7 STt & 2
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16. What are the factors on which economic entitlements of a person depend ?

T AT o ST AR fehet PR W R R € 2
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17. Do you agree that the economic development of a country is reflected in the increase
of economic benefits of its population ? How ?
T S U ¢ Toh Teh I9T T 3T [T STeh! STHEEAT & Mk AT i T8t g o
aReAted B € ? 9 ?

18. What is the importance of distribution pattern with reference to the relationship

between national wealth and economic benefits of individuals ?

L & qLT AT o 3R AT & sl Teieit o G | FeIeRor YoTed! A1 T Hewd & 2
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19. In your opinion, what is relatively more important for economic development ? —
economic resources, utilization of these resources or distribution pattern of income ?

3T A H, fordl 397 o Sniaeh TR | WIueTd: T S Hewqul § — 3Tk e, o
TETEAT hT STFIT S7a 247 ford<or yomer ?

D-01-10 30



Space For Rough Work

D-01-10 31



D-01-10

FOR OFFICE USE ONLY

Marks Obtained

Question
Number

Marks
Obtained

(S

Nl feol BN No)\ RV, IR JOVE | \9)

—
)

(S
(S

—_
\8}

—
(O8]

—
NN

—_
(91

—
(@)

—_
~

—_
oo

—
O

Total Marks Obtained (in WOrds) ........cccveeeeeeveeeeeeiveeeeennnenen.

(IN fIGUIES) oo

Signature & Name of the Coordinator ............cccceevveveenneennen.

(Evaluation)

32



	D-01-10.pdf
	D-01-10  _Economics.pdf

